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1. (@) Where does the parabola : 3. (a) Where does the curve :

y=x+4x+10 cut the y-axis? y = (x+1)(2-x)(x+3)(2x-1)
cut the x and y axes?

(b) Using the method of completing

the squares, find its vertex.

(b) Sketch the curve:

() What is the minimum value of ———t L

this function? T

2. (a) Find the co-efficient of X2 in the
expansion of :

O = 3x — 1).(3%° = x + 2) _ _
4. What is the equation of the curve

below?

(b) Find a,b and ¢ if :-

ax(x+1) + b(x+1)+c = 2x° + x — 1

Equation:




5. (a) Show that (x+3) is a factor of : iy @™

x3+x2—9x—9

7. (a) Expand the binomial (2x+3)5

(b) Find the other factors and fully

factorise thelabove polynomial. 8. (a) Simplify

(n+ D!
n!

05 )y G

(b) If nC3 = an3 + bn2 +cn
Find a,b and ¢
(c) Solve the equation: '

X2+ —9x—9=0

8. If x-5 and x+2 are both factors of

the polynomial :

X3-—5x2+ax+b

6. (a) What is the co-efficient of X in Find a and b.
the following:

M )

@i (1™




1. (a) Where does the parabola :

y = x/ +4x + 10 cut the y-axis?
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the squares find its vertex.
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(c) -What is the minimum value of

this function?
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2. (é) Find the co-efficient of X% in the
expansion of :
. (x -—3x—1)(3x —x+2)
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(b) Find a, b and c if:-
ax(x+1) + b(x+1) +c = 2 +x—1
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3. (a) Where does the curve :
= (x+1 )(2-X)(x+3)(2x-1)

cut the x and y axes?
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(b) Sketch the curve:

4. What is the équation of the cur\)e

below?
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7. (a) Expand the binomial (2x+3)°

(b Find the other factors and fully

factorise the above polynomial. 8. (a) Simplify
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(c) Solve the equation: ©
X +xP-9x-9=0-
when PLY =0
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; 8. If x-5 and x+2 are both factors of
the»polynomvial : IR
X3——5x2+ax+bb = Px)
6. (a) What is the co-efficient of x° in Find a and b. - _
the following: - ‘ O P) =B sS4k
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